# SEMI-SYMMETRIC CONTACT METRIC THREE-MANIFOLDS 

By<br>G. Calvaruso* and D. Perrone*

(Received March 19, 2001; Revised November 16, 2001)


#### Abstract

We study three-dimensional semi-symmetric contact metric manifolds, obtaining several classification results.


## 1. Introduction

A semi-symmetric space is a Riemannian manifold $(M, g)$ such that its curvature tensor $R$ satisfies the condition

$$
\begin{equation*}
R(X, Y) \cdot R=0 \tag{1.1}
\end{equation*}
$$

for all vector fields $X, Y$ on $M$, where $R(X, Y)$ acts as a derivation on $R[14]$. Such a space is called "semi-symmetric" since the curvature tensor of $(M, g)$ at a point $p \in M, R_{p}$, is the same as the curvature tensor of a symmetric space (which may change with the point $p$ ). So, locally symmetric spaces are obviously semi-symmetric, but the converse is not true, as it was proved by H . Takagi [15]. Indeed, in any dimension greater than two do there exist examples of semi-symmetric space which are not locally symmetric. We can refer to [6] for a survey.

Even if in general a semi-symmetric space may be not locally symmetric, semi-symmetry implies local symmetry in several cases (see for example [3], [9]). So, given a class of Riemannian manifolds, it is worthwhile to investigate whether in such class semi-symmetry implies local symmetry or not. In this paper, we consider such problem in the class of contact metric manifolds ( $M, \eta, g, \varphi, \xi$ ).

Semi-symmetric contact metric manifolds have been studied by many authors. In particular, T. Takahashi [16] proved that semi-symmetric Sasakian manifolds have constant sectional curvature 1. In [10] and [11], B.J. Papantoniu and the second author classified semi-symmetric contact metric manifolds, of dimension greater than three, with $\xi$ belonging to the $(k, \mu)$-nullity distribution

[^0]and $R(\xi, \cdot) \xi=-k \varphi^{2}$, respectively. In dimension three, in [11] it was proved that if $M$ is semi-symmetric and $h$ is $\xi$-parallel, then either $M$ is flat or is of constant curvature 1. In [10], semi-symmetric contact metric three-manifolds with $\xi \in(k, \mu)$-nullity distribution were studied. On the other hand, D.E. Blair and R. Sharma [2] proved that every locally symmetric contact metric three-manifold has constant curvature 0 or 1 .

The following theorems extend the results proved in dimension three in [11], [10] and [2].

THEOREM 1. Let $(M, \eta, g, \varphi, \xi)$ be a semi-symmetric contact metric threemanifold with Ricci curvature $\varrho(\xi, \xi)$ constant along the characteristic flow. Then, $M^{3}$ is locally symmetric. In particular, either $M^{3}$ is flat or it is Sasakian with constant curvature 1.

Theorem 2. Let $(M, \eta, g, \varphi, \xi)$ be a semi-symmetric contact metric threemanifold with non-vanishing vertical sectional curvatures at any point. Then $M^{3}$ is Sasakian with constant curvature 1.

In the Section 2 we shall recall some basic facts about contact metric threemanifolds, in the Section 3 we shall consider semi-symmetric contact metric three-manifolds and we shall prove Theorems 1 and 2.

In the Section 4 we shall prove the following
Theorem 3. Let $(M, G)$ be a Riemannian manifold of dimension two. Then the unit tangent sphere bundle $T_{1} M$, equipped with its standard contact metric structure, is semi-symmetric if and only if $M$ is flat or has Gaussian curvature 1.

The authors wish to thank the referee for his useful comments about the original manuscript.

## 2. Preliminaries

A contact manifold is a $(2 n+1)$-dimensional manifold $M$ equipped with a global 1-form $\eta$ such that $\eta \wedge(d \eta)^{n} \neq 0$ everywhere on $M$. It has an underlying almost contact structure $(\eta, \varphi, \xi)$ where $\xi$ is a global vector field (called the characteristic vector field) and $\varphi$ a global tensor of type (1.1) such that

$$
\eta(\xi)=1, \quad \varphi \xi=0, \quad \eta \varphi=0, \quad \varphi^{2}=-I+\eta \otimes \xi
$$

A Riemannian metric $g$ can be found such that

$$
\eta=g(\xi, \cdot), \quad d \eta=g(\cdot, \varphi \cdot), \quad g(\cdot, \varphi \cdot)=-g(\varphi \cdot, \cdot)
$$

We refer to ( $M, \eta, g$ ) or to ( $M, \eta, g, \xi, \varphi$ ) as a contact metric (or Riemannian) manifold.

In what follows, we shall denote by $\nabla$ the Levi Civita connection of $M$ and by $R$ the corresponding Riemannian curvature tensor given by

$$
R_{X, Y}=\nabla_{[X, Y]}-\left[\nabla_{X}, \nabla_{Y}\right]
$$

The Ricci tensor of type ( 0,2 ), the corresponding endomorphism field and the scalar curvature are respectively indicated by $\varrho, Q$ and $r$. By $K(\xi, X)$ we denote the vertical curvature, that is, the sectional curvature of the plane spanned by $\xi$ and $X \in$ ker $\eta$. The tensor

$$
h=\frac{1}{2} L_{\xi} \varphi,
$$

where $L$ denotes the Lie derivative, is symmetric and satisfies

$$
\begin{equation*}
\nabla \xi=-\varphi-\varphi h, \quad \nabla_{\xi} \varphi=0, \quad h \varphi=-\varphi h, \quad h \xi=0 \tag{2.1}
\end{equation*}
$$

A $K$-contact manifold is a contact metric manifold such that $\xi$ is a Killing vector field with respect to $g$. Clearly, $M$ is $K$-contact if and only if $h=0$. If the almost complex structure $J$ on $M \times \mathbb{R}$ defined by

$$
J\left(X, f \frac{d}{d t}\right)=\left(\varphi X-f \xi, \eta(X) \frac{d}{d t}\right)
$$

is integrable, $M$ is said to be Sasakian. Any Sasakian manifold is $K$-contact and the converse also holds for three-dimensional spaces. It easy to prove that if $M$ is a contact metric three-manifold of constant sectional curvature 1 , then $M$ is necessarily Sasakian. We refer to [1] for more information about contact metric manifolds.

Next, let ( $M, \eta, g, \xi, \varphi$ ) be a three-dimensional contact metric manifold. Let $U$ be the open subset of $M$ where $h \neq 0$ and $V$ the open subset of points $m \in M$ such that $h=0$ in a neighborhood of $m$. Then, $U \cup V$ is an open dense subset of $M$. For any point $m \in U \cup V$ there exists a local orthonormal basis $\{\xi, e, \varphi e\}$ of smooth eigenvectors of $h$ in a neighborhood of $m$. On $U$ we put $h e=\lambda e$, where $\lambda$ is a non-vanishing smooth function which we suppose to be positive. From (2.1), we have $h \varphi e=-\lambda \varphi e$. We recall the following:

Lemma 2.4 ([8]). On $U$ we have

$$
\begin{array}{ll}
\nabla_{\xi} e=-a \varphi e, & \nabla_{\xi} \varphi e=a e, \\
\nabla_{e} \xi=-(\lambda+1) \varphi e, & \nabla_{\varphi e} \xi=-(\lambda-1) e, \\
\nabla_{e} e=\frac{1}{2 \lambda}\{(\varphi e)(\lambda)+A\} \varphi e, & \nabla_{\varphi e} \varphi e=\frac{1}{2 \lambda}\{e(\lambda)+B\} e, \\
\nabla_{e} \varphi e=-\frac{1}{2 \lambda}\{(\varphi e)(\lambda)+A\} e+(\lambda+1) \xi,  \tag{2.2}\\
\nabla_{\varphi e} e=-\frac{1}{2 \lambda}\{e(\lambda)+B\} \varphi e+(\lambda-1) \xi,
\end{array}
$$

$$
\begin{equation*}
\nabla_{\xi} h=2 a h \varphi+\xi(\lambda) s \tag{2.3}
\end{equation*}
$$

where $a$ is a smooth function, $A=\varrho(\xi, e), B=\varrho(\xi, \varphi e)$ and $s$ is the (1,1)-type tensor defined by $s \xi=0$, se $=e$ and $s \varphi e=-\varphi e$.

Finally, we note that the components of the Ricci operator $Q$, with respect to $\{\xi, e, \varphi e\}$, are given by (see [12])

$$
\left\{\begin{array}{l}
Q \xi=2\left(1-\lambda^{2}\right) \xi+A e+B \varphi e  \tag{2.4}\\
Q e=A \xi+\left(\frac{r}{2}-1+\lambda^{2}+2 a \lambda\right) e+\xi(\lambda) \varphi e \\
Q \varphi e=B \xi+\xi(\lambda) e+\left(\frac{r}{2}-1+\lambda^{2}-2 a \lambda\right) \varphi e
\end{array}\right.
$$

from which it follows easily (see also [7])

$$
\begin{align*}
\left(\nabla_{\xi} Q\right) \xi= & -4 \lambda \xi(\lambda) \xi+\{\xi(A)+a B\} e+\{\xi(B)-a A\} \varphi e, \\
\left(\nabla_{e} Q\right) e= & \left\{e(A)+(\lambda+1) \xi(\lambda)-\frac{B}{2 \lambda}[(\varphi e)(\lambda)+A]\right\} \xi+  \tag{2.5}\\
& +\left\{e(\alpha+2 a \lambda)-\frac{\xi(\lambda)}{\lambda}[(\varphi e)(\lambda)+A]\right\} e+ \\
& +\{e \xi(\lambda)+2 a(\varphi e)(\lambda)+(2 a-\lambda-1) A\} \varphi e, \\
\left(\nabla_{\varphi e} Q\right) \varphi e= & \left\{(\varphi e)(B)+(\lambda-1) \xi(\lambda)-\frac{A}{2 \lambda}[e(\lambda)+B]\right\} \xi+ \\
& +\{(\varphi e) \xi \lambda-2 a e(\lambda)+(1-\lambda-2 a) B\} e+ \\
& +\left\{(\varphi e)(\alpha-2 a \lambda)-\frac{\xi(\lambda)}{\lambda}[e(\lambda)+B]\right\} \varphi e,
\end{align*}
$$

where $\alpha=\frac{r}{2}-1+\lambda^{2}$.

## 3. Three-dimensional semi-symmetric contact metric manifolds

Let $(M, \eta, g, \varphi, \xi)$ be a contact metric three-manifold. If $M$ is Sasakian and semi-symmetric, then it has constant sectional curvature 1 [16]. So, in what follows we shall assume $M$ is not Sasakian. We now write down the conditions satisfied by a semi-symmetric contact metric three-manifold, proving the following

LEMMA 3.1. Let $(M, \eta, g, \varphi, \xi)$ be a non-Sasakian contact metric three-manifold. Then $M$ is semi-symmetric if and only if

$$
\begin{align*}
& B\left(\lambda^{2}-1+2 a \lambda\right)=A \xi(\lambda),  \tag{3.1}\\
& A\left(\lambda^{2}-1-2 a \lambda\right)=B \xi(\lambda),  \tag{3.2}\\
& A B+\xi(\lambda)\left(\frac{r}{2}+2 \lambda^{2}-2\right)=0,  \tag{3.3}\\
& B^{2}-\left[\xi(\lambda)^{2}\right]+\left(\lambda^{2}-1-2 a \lambda\right)\left(\frac{r}{2}+3 \lambda^{2}-3+2 a \lambda\right)=0,  \tag{3.4}\\
& A^{2}-\left[\xi(\lambda)^{2}\right]+\left(\lambda^{2}-1+2 a \lambda\right)\left(\frac{r}{2}+3 \lambda^{2}-3-2 a \lambda\right)=0 \tag{3.5}
\end{align*}
$$

Proof. Since $\operatorname{dim} M=3$, we have the well-known formula

$$
\begin{align*}
& R(X, Y) Z=g(X, Z) Q Y-g(Y, Z) Q X+\varrho(X, Z) Y-\varrho(Y, Z) X+  \tag{3.6}\\
& -\frac{r}{2}\{g(X, Z) Y-g(Y, z) X\}
\end{align*}
$$

for all $X, Y, Z$ vector fields on $M$. Therefore, we can use (2.4) and (3.6) to compute the components of $R$ with respect to the $\varphi$-basis $\{\xi, e, \varphi e\}$. We get

$$
\begin{align*}
& R(\xi, e) \xi=-\left(\lambda^{2}-1-2 a \lambda\right) e+\xi(\lambda) \varphi e \\
& R(\xi, \varphi e) \xi=\xi(\lambda) e-\left(\lambda^{2}-1+2 a \lambda\right) \varphi e \\
& R(e, \varphi e) \xi=-B e+A \varphi e \\
& R(\xi, e) e=\left(\lambda^{2}-1-2 a \lambda\right) \xi-B \varphi e \\
& R(\xi, \varphi e) e=-\xi(\lambda) \xi+A \varphi e  \tag{3.7}\\
& R(e, \varphi e) e=B \xi+\left(\frac{r}{2}+2 \lambda^{2}-2\right) \varphi e \\
& R(\xi, e) \varphi e=-\xi(\lambda) \xi+B e \\
& R(\xi, \varphi e) \varphi e=\left(\lambda^{2}-1+2 a \lambda\right) \xi-A e \\
& R(e, \varphi e) \varphi e=-A \xi-\left(\frac{r}{2}+2 \lambda^{2}-2\right) e
\end{align*}
$$

These are all the possibly non-vanishing components of $R$, up to changes in the order of the vectors fields. (1.1) is equivalent to $R(X, \xi) \cdot R=0$, for all vector
field $X$ on $M$, that is,

$$
\begin{align*}
& R(X, \xi) R(Y, Z) V-R(R(X, \xi) Y, Z) V-R(Y, R(X, \xi) Z) V+  \tag{3.8}\\
& -R(Y, Z) R(X, \xi) V=0
\end{align*}
$$

for all $X, Y, Z, V$ vector fields on $M$. We now apply (3.8) taking $X=e, Y=\xi$, $Z=\varphi e$ and $V=\xi$. Using (3.7), we get

$$
\begin{aligned}
0 & =(R(e, \xi) \cdot R)(\xi, \varphi e) \xi \\
& =\left\{-A \xi(\lambda)+B\left(\lambda^{2}-1+2 a \lambda\right)\right\} e+2\left\{B \xi(\lambda)-A\left(\lambda^{2}-1-2 a \lambda\right)\right\} \varphi e,
\end{aligned}
$$

from which (3.1) and (3.2) follow at once.
In the same way, we use (3.8) taking $X=e, Y=e, Z=\varphi e$ and $V=\xi$ and using (3.7). We obtain

$$
\begin{aligned}
0= & (R(e, \xi) \cdot R)(e, \varphi e) \xi=\left\{-A B-\xi(\lambda)\left(\frac{r}{2}+2 \lambda^{2}-2\right)\right\} e+ \\
& +\left\{[\xi(\lambda)]^{2}-B^{2}-\left(\lambda^{2}-1-2 a \lambda\right)\left(\frac{r}{2}+3 \lambda^{2}-3+2 a \lambda\right)\right\} \varphi e
\end{aligned}
$$

and so, (3.3) and (3.4) hold. Finally, we put $X=\varphi e, Y=\varphi e, Z=e$ and $V=\xi$ in (3.8) and, making use of (3.7), we get

$$
\begin{aligned}
0= & (R(\varphi e, \xi) \cdot R)(\varphi e, e) \xi=\left\{[\xi(\lambda)]^{2}-A^{2}-\left(\lambda^{2}-1+2 a \lambda\right)\left(\frac{r}{2}+3 \lambda^{2}+\right.\right. \\
& -3-2 a \lambda)\} e+\left\{-A B-\xi(\lambda)\left(\frac{r}{2}+2 \lambda^{2}-2\right)\right\} \varphi e,
\end{aligned}
$$

from which (3.5) follows.
Note that all the other possible choices of the vector fields in the $\varphi$-basis $\{\xi, e, \varphi e\}$, give again equations (3.1)-(3.5). So, if (3.1)-(3.5) hold, then (3.8) holds, that is, $M$ is semi-symmetric.

Proof of Theorem 1. If $M$ is Sasakian then the result follows from [16]. So, let $M$ be non-Sasakian. Then, (3.1)-(3.5) hold. Note that, because of (2.4), the constancy of $\varrho(\xi, \xi)$ along the characteristic flow means exactly $\xi(\lambda)=0$. Hence, if $a=0$, then $\nabla_{\xi} h=0$, as it follows from (2.3), and the result then follows from [11]. To end the proof, we shall prove that the case $a \neq 0$ can not occur.

In fact, assume $a \neq 0$ and consider a point $p$ at $M$ such that $a(p) \neq 0$. Then, there exists a neighbourhood $W$ of $p$ such that $a \neq 0$ on $W$. We first multiply (3.1) by $B$ and (3.2) by $A$ and we get

$$
\begin{align*}
& B^{2}\left(\lambda^{2}-1+2 a \lambda\right)=A B \xi(\lambda)  \tag{3.9}\\
& A^{2}\left(\lambda^{2}-1-2 a \lambda\right)=A B \xi(\lambda) \tag{3.10}
\end{align*}
$$

We substract (3.9) from (3.10) and we use (3.4) and (3.5) to express $B^{2}$ and $A^{2}$, respectively. We obtain

$$
4 a \lambda\left\{\left(\lambda^{2}-1\right)^{2}-4 a^{2} \lambda^{2}-[\xi(\lambda)]^{2}\right\}=0
$$

from which, since $a \lambda \neq 0$, it follows

$$
\begin{equation*}
[\xi(\lambda)]^{2}=\left(\lambda^{2}-1\right)^{2}-4 a^{2} \lambda^{2} \tag{3.11}
\end{equation*}
$$

Since $\xi(\lambda)=0$, (3.11) gives $\lambda^{2}-1 \pm 2 a \lambda=0$. Thus, suppose

$$
\begin{equation*}
\lambda^{2}-1+2 a \lambda=0 \tag{3.12}
\end{equation*}
$$

(If $\lambda^{2}-1-2 a \lambda=0$, we proceed in the same way. Note that, since $a \neq 0$, the two conditions can not hold simultaneously).

Since $\xi(\lambda)=0$, (3.3) also yields $A B=0$, that is, either $A=0$ or $B=0$ (locally). We assume $A=0$ and we prove that $\lambda$ is constant and $B=0$ (if we assume $B=0$, we proceed in the same way).

Differentiating (3.12) with respect to $\xi$, we get $\xi(a)=0$. Next, differentiating (3.12) with respect to $e$, we obtain

$$
\begin{equation*}
\lambda(e(\lambda)+e(a))=-a e(\lambda) . \tag{3.13}
\end{equation*}
$$

We recall the well-known formula

$$
\begin{equation*}
\frac{1}{2} X(r)=\sum_{i=1}^{n} g\left(\left(\nabla_{e_{i}} Q\right) e_{i}, X\right) \tag{3.14}
\end{equation*}
$$

which holds for any vector field $X$ of a $n$-dimensional Riemannian manifold. Here, $\left\{e_{i}\right\}$ is an arbitrary orthonormal basis. With respect to our $\varphi$-basis, we can apply (3.14) and (2.5) to compute $\frac{1}{2} e(r)$ and $\frac{1}{2}(\varphi e)(r)$. We obtain

$$
2 \lambda\{e(\lambda)+e(a)\}=(\lambda+a-1) B,
$$

that is, using (3.13),

$$
\begin{equation*}
2 a e(\lambda)=(1-\lambda-a) B \tag{3.15}
\end{equation*}
$$

Differentiating (3.15) by $\xi$, since $\xi(\lambda)=\xi(a)=0$, we get

$$
2 a \xi e(\lambda)=(1-\lambda-a) \xi(B) .
$$

We now use (3.14) and (2.5) to compute $\frac{1}{2}(\varphi e)(r)$ and we obtain the following formula for $\xi(B)$ :

$$
\begin{equation*}
\xi(B)=2 \lambda\{(\varphi e)(a)-(\varphi e)(\lambda)\} . \tag{3.16}
\end{equation*}
$$

Therefore, we get

$$
a \xi e(\lambda)=\lambda(\lambda+a-1)\{(\varphi e)(\lambda)-(\varphi e)(a)\} .
$$

From $\xi(\lambda)=0$ it then follows

$$
a[\xi, e](\lambda)=a \xi e(\lambda)=\lambda(\lambda+a-1)\{(\varphi e)(\lambda)-(\varphi e)(a)\}
$$

On the other hand, using (2.2) we also have

$$
a[\xi, e](\lambda)=a\left(\nabla_{\xi} e-\nabla_{e} \xi\right)(\lambda)=a(\lambda-a+1)(\varphi e)(\lambda)
$$

Therefore,

$$
\begin{equation*}
a(\lambda-a+1)(\varphi e)(\lambda)=\lambda(\lambda+a-1)\{(\varphi e)(\lambda)-(\varphi e)(a)\} . \tag{3.17}
\end{equation*}
$$

Differentiating (3.12) with respect to $\varphi e$, we obtain

$$
\lambda\{(\varphi e)(a)+(\varphi e)(\lambda)\}=-a(\varphi e)(\lambda)
$$

and so, (3.17) becomes

$$
\left(\lambda^{2}+a^{2}+a \lambda-\lambda-a\right)(\varphi e)(\lambda)=0
$$

Moreover, from (3.12) we have $a=\frac{1-\lambda^{2}}{2 \lambda}$ and so, the last formula becomes

$$
\left(3 \lambda^{4}-2 \lambda^{3}-2 \lambda+1\right)(\varphi e)(\lambda)=0
$$

It is now easy to conclude that $(\varphi e)(\lambda)=0$. In fact, if we assume $(\varphi e)(\lambda) \neq 0$, then $3 \lambda^{4}-2 \lambda^{3}-2 \lambda+1=0$ and, differentiating by $\varphi e$, we conclude again that $(\varphi e)(\lambda)=0$, which contradicts our assumption. Hence, $(\varphi e)(\lambda)=0$. Since $\xi(\lambda)=0$, we also have

$$
0=[\xi, \varphi e](\lambda)=(\lambda+a-1) e(\lambda)
$$

and so, $e(\lambda)=0$. In fact, if we assume $e(\lambda) \neq 0$, then $\lambda+a-1=0$, which, taking into account (3.12) and differentiating by $e$, permits to conclude easily that $e(\lambda)=0$, against our assumption. Thus, $e(\lambda)=(\varphi e)(\lambda)=0$ and so, $\lambda$ is constant. Moreover, $B=0$. In fact, if $B \neq 0$, then from (3.15) we get $\lambda+a-1=0$, which, together with (3.12), gives $a=0$, which can not occur. Then, necessarily $B=0$.

Finally, we compute $R(e, \varphi e) e$ using (2.2) and we compare with (3.7). Using (3.12), we then get

$$
\begin{equation*}
r=4 a(\lambda-1) \tag{3.18}
\end{equation*}
$$

Using (3.18) in (3.4), and taking into account (3.12), we can conclude that $a=0$, against our assumption.

Remark 3.2. Note that formula (3.11) holds for any non-Sasakian semisymmetric contact metric three-manifold. In fact, if $a=0$ and $\xi(\lambda) \neq 0$ (otherwise $\nabla_{\xi} h=0$ and the result follows from [[11]), then either $A B \neq 0$ (in this case, (3.11) follows at once from (3.1) and (3.2)), or $A B=0$. Suppose for example $A=0$. Then (3.3) gives $r=4\left(1-\lambda^{2}\right)$, which, together with (3.5), again gives (3.11). Note also that from (3.4), (3.5) and (3.11) it follows

$$
\begin{equation*}
A^{2}+B^{2}=r\left(1-\lambda^{2}\right)-4\left(1-\lambda^{2}\right)^{2} \tag{3.19}
\end{equation*}
$$

The following Lemma has interesting applications and it will also be used in the proof of Theorem 3 .

LEMMA 3.3. A semi-symmetric contact metric manifold ( $M^{3}, \eta, g, \varphi, \xi$ ) satisfying $A=0$ or $B=0$, either is flat or has constant curvature 1 .

Proof. Without loss of generality, assume $A=0$. Consider $W_{1}=\{p \in M / \xi(\lambda) \neq$ 0 at p$\}$ and $W_{2}=\{p \in M / \xi(\lambda)=0$ in a neighbourhood of $p\}$.

On $W_{1}$, from (3.3) we get

$$
\frac{r}{2}=2-2 \lambda^{2}
$$

from which, differentiating by $\xi$, we obtain $\xi(r)=-8 \lambda \xi(\lambda)$. On the other hand, Using (3.13) and (2.5) to compute $\xi(r)$, we also get $\xi(r)=-4 \lambda \xi(\lambda)$. Therefore, $\xi(\lambda)=0$ on $W_{1}$, which can not occur. Therefore, $W_{1}$ is empty.

In the open subset $W_{2}$, proceeding as in the proof of Theorem 1, we can show that $B=0$. On $W_{2}$ we now have $\xi(\lambda)=A=B=0$ and the conclusion follows as in the proof of Theorem 1 .

The class of contact metric manifolds for which the characteristic vector field is an eigenvector field of the Ricci tensor naturally appeared in many problems and examples in contact geometry (see also [8]). Taking into account (2.4), as an immediate consequence of Lemma 3.3, we have the following

Corollary 3.4. A semi-symmetric contact metric manifold ( $M^{3}, \eta, g, \varphi, \xi$ ), whose characteristic field is an eigenvector of the Ricci tensor, either is flat or has constant curvature 1.

REmARK 3.5. Theorem 1 extends and corrects Theorem 3.4, b) of [10]. In fact, if $\xi \in(k, \mu)$-nullity distribution, then necessarily $\xi(\lambda)=0$.

Proof of Theorem 2.. If $M$ is Sasakian, then the conclusion follows from [16]. Next, we assume $M$ is not-Sasakian, that is, $U=\{p \in M: \lambda(p) \neq 0\}$ is not empty, and we prove that this case can not occur.

We first compute the eigenvalues of the Ricci operator $Q$ on $M$. Using (2.4), we get the characteristic equation

$$
x^{3}-b_{2} x^{2}+b_{1} x-b_{0}=0,
$$

where $b_{0}=\operatorname{det} Q, b_{1}=\sum_{i} Q_{i i}, b_{2}=\operatorname{tr} Q=r, Q_{i i}$ being the algebraic complement of $\varrho_{i i}$ in the matrix of $Q$. Using (3.4),(3.5) and (3.11) we obtain easily $b_{0}=0$, while using (3.11) and (3.19) we get $b_{1}=\frac{r^{2}}{4}$. Thus, the eigenvalues of $Q$ are $\lambda_{1}=0$ and $\lambda_{2}=\frac{r}{2}$, of multiplicity 1 and 2, respectively (see also [6], Prop. 11.2). Next, let $Y$ be the orthogonal projection of $\xi$ on the distribution $V\left(\frac{r}{2}\right)=\{X \in$ $\left.T M: Q X=\frac{r}{2} X\right\}$. If $Y=0$ on $U$, then $Q \xi=0$ and from (2.4) it follows that $\lambda=1$ on $U$. This implies easily that $U$ is flat and hence, the vertical curvatures all vanish at any point of $U$, against the hypothesis.

So, let $p$ be a point of $U$ such that $Y_{p} \neq 0$. Consider an orthonormal basis $\left\{e_{1}, e_{2}, e_{3}\right\}$ of $T_{p} M$, where $Q e_{1}=0$ and $e_{2}=\frac{Y}{\| Y \Pi}$. Clearly, $\left\{e_{i}\right\}$ is a basis of eigenvectors of $Q$ at $p$, with $Q e_{1}=0, Q e_{2}=\frac{r}{2} e_{2}$ and $Q e_{3}=\frac{r}{2} e_{3}$. Then, the sectional curvature $K_{12}$ vanishes, where by $K_{i j}$ we denote the sectional curvature of the plane spanned by $\left(e_{i}, e_{j}\right)$. With respect to $\left\{e_{i}\right\}$, we have $\xi_{p}=\alpha e_{1}+\beta e_{2}$. Put $W=\beta e_{1}-\alpha e_{2}$. Since $W$ is orthogonal to $\xi_{p}, W \in$ ker $\eta$. The sectional curvature of the plane spanned by $\xi_{p}$ and $W$ is

$$
K\left(\xi_{p}, W\right)=R\left(\xi_{p}, W, \xi_{p}, W\right)=\left(\alpha^{2}+\beta^{2}\right) K_{12}=K_{12}=0
$$

Hence, the vertical curvature $K\left(\xi_{p}, W\right)$ vanishes at $p$ and this contradicts the hypothesis.

## 4. Three-dimensional semi-symmetric unit tangent sphere bundles

Let $(M, G)$ be a Riemannian manifold and $\bar{\pi}: T M \rightarrow M$ its tangent bundle. If $X$ is a vector field on $M$, we denote by $X^{h}$ and $X^{v}$ respectively the horizontal and the vertical lift of $X$ on $T M$. The Sasaki metric $g_{s}$ on $T M$ is defined by

$$
g_{s}(\bar{X}, \bar{Y})=G\left(\bar{\pi}_{\star} \bar{X}, \bar{\pi}_{\star} \bar{Y}\right)+G(K \bar{X}, K \bar{Y})
$$

where $\bar{X}, \bar{Y}$ are vector field on $T M$ and $K$ is the connection map corresponding to the Levi-Civita connection of $(M, G) . T M$ admits an almost complex structure $J$ defined by $J X^{h}=X^{v}$ and $J X^{v}=-X^{h}$.

The tangent sphere bundle $\pi: T^{1} M \rightarrow M$ is considered as the hypersurface of $T M$ defined by $\{(p, v) \in T M: G(v, v)=1\}$. The vector field $N=v^{i}\left(\frac{\partial}{\partial v^{i}}\right)=$ $v^{i}\left(\frac{\partial}{\partial x^{i}}\right)^{v}$ is an unit normal, as well as the position vector for a point $z=(p, v)$.

Let $g^{\prime}$ be the metric on $T^{1} M$ induced from $g_{s}$. On $T M$ there is a horizontal vector field $\xi^{\prime}$ called geodesic flow of $(M, G)$, which is defined by

$$
\xi^{\prime}=-J N=v^{i}\left(\frac{\partial}{\partial x^{i}}\right)^{h}
$$

Since $\xi^{\prime}{ }_{z}$, for $z \in T^{1} M$, is tangent to $T^{1} M, \xi^{\prime}$ can be considered as a vector field on $T^{1} M$. Let $\eta^{\prime}$ be the 1-form on $T^{1} M$ dual to $\xi^{\prime}$ with respect to $g^{\prime}$, and $\varphi^{\prime}$ the $(1,1)$ tensor given by $\varphi^{\prime} X=J X-\eta^{\prime}(X) N$. Then

$$
(\eta, \xi, g, \varphi)=\left(\frac{1}{2} \eta^{\prime}, 2 \xi^{\prime}, \frac{1}{4} g^{\prime}, \varphi^{\prime}\right)
$$

is the standard contact metric structure on $T^{1} M$.
We are now ready to give the
Proof of Theorem 3.. Using isothermal local coordinate $\left(x^{1}, x^{2}\right)$ on $M$, the Riemannian metric $G$ is given by

$$
G=e^{2 f}\left(\left(d x^{1}\right)^{2}+\left(d x^{2}\right)^{2}\right)
$$

where $f$ is a $C^{\infty}$ function on $M$. The immersion of $T^{1} M=\{z=(p, v) \in T M$ : $\left.e^{2 f}\left(\left(v^{1}\right)^{2}+\left(v^{2}\right)^{2}\right)=1\right\}$ into $T M$ is defined by

$$
\left(y^{1}, y^{2}, \theta\right) \longrightarrow\left(x^{1}, x^{2}, v^{1}, v^{2}\right)=\left(y^{1}, y^{2}, e^{-f} \cos \theta, e^{-f} \sin \theta\right)
$$

Setting $f_{1}=\frac{\partial f}{\partial x^{1}}$ and $f_{2}=\frac{\partial f}{\partial x^{2}}$, we find

$$
\frac{\partial}{\partial \theta}=-v^{2} \frac{\partial}{\partial v^{1}}+v^{1} \frac{\partial}{\partial v^{2}}, \frac{\partial}{\partial y^{1}}=\frac{\partial}{\partial x^{1}}-f_{1} N, \frac{\partial}{\partial y^{2}}=\frac{\partial}{\partial x^{2}}-f_{2} N
$$

and

$$
\xi^{\prime}=v^{1} \frac{\partial}{\partial y^{1}}+v^{2} \frac{\partial}{\partial y^{2}}+\left(v^{1} f_{2}-v^{2} f_{1}\right) \frac{\partial}{\partial \theta}
$$

Moreover, we find $g^{\prime}\left(\frac{\partial}{\partial \theta}, \frac{\partial}{\partial \theta}\right)=g^{\prime}\left(\xi^{\prime}, \xi^{\prime}\right)=1$.
Since $\frac{\partial}{\partial \theta}=u^{v}$, and $\xi^{\prime}=v^{h}$, where $u=-v^{2} \frac{\partial}{\partial x^{1}}+v^{1} \frac{\partial}{\partial x^{2}}$, and $v=v^{1} \frac{\partial}{\partial x^{1}}+v^{2} \frac{\partial}{\partial x^{2}}$, then

$$
U=u^{h}=-v^{2} \frac{\partial}{\partial y^{1}}+v^{1} \frac{\partial}{\partial y^{2}}-\left(v_{2} f_{2}+v_{1} f_{1}\right) \frac{\partial}{\partial \theta}
$$

is $g^{\prime}$-unitary and orthogonal to $\frac{\partial}{\partial \theta}, \xi^{\prime}$ and $N$. Thus, $\left(\frac{\partial}{\partial \theta}, U, \xi^{\prime}\right)$ is a $g^{\prime}$-orthogonal basis of vector fields tangent to $T^{1} M$. On the other hand, $\varphi U=\varphi u^{h}=u^{v}-$ $G(u, v) N=\frac{\partial}{\partial \theta}$. So, $(\xi, e, \varphi e)=\left(2 \xi^{\prime}, 2 U, 2 \frac{\partial}{\partial \theta}\right)$ is an orthonormal $\varphi$-basis for $\left(T^{1} M, \eta, g\right)$.

We now determine $h$. By (2.1), $h=\varphi \nabla \xi+\varphi^{2}$, where the covariant derivates $\nabla \xi$ are given by [B1]

$$
\left(\nabla_{W} \xi\right)_{z}=-\left(R\left(\pi_{\star} W, v\right) v\right)^{v}, \quad\left(\nabla_{V} \xi\right)_{z}=-2 \phi V-(R(K V, v) v)^{h}
$$

Here $W$ (resp. $V$ ) is a horizontal (resp. vertical) vector field tangent to $T^{1} M$ and $R$ is the curvature tensor of $(M, G)$. Then, we get

$$
\begin{equation*}
h U=(k-1) U, \quad h\left(\frac{\partial}{\partial \theta}\right)=(1-k)\left(\frac{\partial}{\partial \theta}\right) \tag{4.1}
\end{equation*}
$$

where the Gaussian curvature $k$ considered as a function on $T^{1} M$ is defined by $k(p, v):=k(p)$. Hence, $\{\xi, e, \varphi e\}$ is a $\varphi$-basis of eigenvectors of $h$, with $\lambda=1-k$.

The Ricci tensor of ( $T_{1} M, g^{\prime}$ ) has been computed in [4]. Taking into account that $g$ and $g^{\prime}$ are homothetic, it is easy to prove that the Ricci tensor $\bar{\varrho}$ of ( $T_{1} M, g$ ) satisfies

$$
\left.\bar{\varrho}_{( } p, v\right)\left(X^{h}, Y^{h}\right)=\varrho_{p}(X, Y)-\frac{1}{2} \sum_{i=1,2} G_{p}\left(R\left(v, E_{i}\right) X, R\left(v, E_{i}\right) Y\right)
$$

where $\varrho$ is the Ricci tensor of $M$ and $\left\{E_{i}\right\}$ is an orthonormal basis of $T_{p} M$. In particular, taking $\{u, v\}$ as an orthonormal basis of $T_{p} M$, we obtain

$$
\begin{aligned}
A & =\bar{\varrho}_{(p, v)}(\xi, e)=\varrho_{(p, v)}\left(2 v^{h}, 2 u^{h}\right)= \\
& =4 \varrho_{p}(v, u)-2 G_{p}(R(v, u) v, R(v, u) u)=-k(p)^{2} G_{p}(v, u)=0 .
\end{aligned}
$$

Therefore, if $T_{1} M$ is semi-symmetric, then, since $A=0$, Lemma 3.3 implies that $T^{1} M$ has constant sectional curvature 0 or 1 . Hence, (4.1) yields $\lambda=1$ or $\lambda=0$ respectively, and ( $M, G$ ) has constant Gaussian curvature $k=0$ or $k=1$ respectively.

Conversely, if $(M, G)$ has constant sectional curvature 0 or 1 , then $T^{1} M$ is locally symmetric (see for example [12]). In particular, it is semi-symmetric.

## References

[1] D.E. Blair, "Riemannian geometry of contact and sympletic maniofolds", PM203, Birkhäuser, Boston, Basel, Berlin, 2002.
[2] D.E. Blair and R. Sharma, Three-dimensional locally symmetric contact metric manifolds, Boll. Un. Mat. Ital. (7) 4-A (1990), 385-390.
[ 3 ] E. Boeckx, Einstein-like semi-symmetric spaces, Arch. Math. (Brno) 29 (1993), 235-240.
[4] E. Boeckx and L. Vanhecke, Curvature homogeneous unit tangent sphere bundles, preprint, 2000.
[5] E. Boeckx, D. Perrone and L. Vanhecke, Unit tangent sphere bundles and two-point homogeneous spaces, Period. Math. Hungar. 36 (1998), 79-95.
[6] E. Boeckx, O. Kowalski and L. Vanhecke, Riemannian manifolds of conullity two, World Scientific, 1996.
[7] G. Calvaruso, Einstein-like and conformally flat contact metric three-manifolds, Balkan J. Math, 5 (2000), 17-36.
[ 8 ] G. Calvaruso, D. Perrone and L. Vanhecke, Homogeneity on three-dimensional contact metric manifolds, Israel J. Math, 114 (1999), 301-321.
[ 9 ] G. Calvaruso and L. Vanhecke, Semi- symmetric ball-homogeneous spaces and a volume conjecture, Bull. Austral. Math. Soc. 57 (1998), 109-115.
[10] B.J. Papantoniu, Contact Riemannian manifolds satisfying $R(\xi, X) \cdot R=0$ and $\xi \in(k, \mu)$ nullity distribution, Yokohama Math. J. 40 (1993), 149-161.
[11] D. Perrone, Contact Riemannian manifolds satisfying $R(X, \xi) \cdot R=0$, Yokohama Math. J. 39 (1992), 141-149.
[12] D. Perrone, Tangent sphere bundles satisfying $\nabla_{\xi} \tau=0$, J. of Geom. 49 (1994), 178-188.
[13] D. Perrone, Ricci tensor and spectral rigidity of contact Riemannian three-manifolds, Bull. Inst. Math. Acad. Sinica 24 (1996), 127-138.
[14] Z. I. Szabó, Structure theorems on Riemannian manifolds satisfying $R(X, Y) \cdot R=0, I$, the local version, J. Diff. Geom. 17 (1982), 531-582.
[15] H. Takagi, An example of Riemannian manifold satisfying $R(X, Y) \cdot R$ but not $\nabla R=0$, Tôhoku Math. J. 24 (1972), 105-108.
[16] T. Takahashi, Sasakian manifolds with pseudo-Riemannian metric, Tôhoku Math. J. 21 (1969), 271-290.

Universita' degli Studi di Lecce Dipartimento di Matematica Via Provinciale Lecce-Arnesano 73100 Lecce, Italy
giovannieilenic.unile.it
domenico.perronecunile.it


[^0]:    *Supported by funds of the University of Lecce and the M.U.R.S.T. Work made within the program of G.N.S.A.G.A.

    2000 Mathematics Subject Classification: 53C15,53C25, 53C35
    Key words and phrases: contact metric manifolds, semi-symmetric spaces

